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will be of 100 questions

* Question paper is divided into 5 sections — English, Science, Mathematics, General
Knowledge & Logical Reasoning

» Every question has 1 correct answer

*  There will be no negative marking

* All questions carry equal weightage

«  Duration of actual exam (with 100 questions) will be 2 hours

* In the actual exam, please read the instructions given on the OMR sheet carefully
and submit the completely filled OMR sheet before leaving the exam hall
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Which friction among the following is
the highest?

a. Sliding friction

b. Rolling friction

c. Static friction

d. none of these

eTafaa # sl @1 gdor gafea &
(T) gt oy

(&) wefA® agor

(&) A o

(3N) 59H | Hg AL

The pitch of sound depends on the
of the vibrating body.

a. amplitude

b. noise

c. frequency

d. medium of propagation

Al f Ra sPagarg & R
&L gl

(T)H=IH

(&) A

(¥1) g

() TER & ATIH

What is the cause of change in motion
or change in the state of motion?

a. Pressure

b. Atmospheric Pressure

c. Friction

d. Force

ot & gRaasr ar aifg & afa & afgaa
T FIOT FIT 57
(T) gara

L D

Duration : 1 Hr Date : No. of Questions : 50 Max. Marks: Class : 8
Section A - Science () Eor
(2N "=

LPG stands for

a. Liquefied Petroleum Gas

b. Liquid Petroleum Gas

c. Liquetied Petro Gas

d. Liquefied Petrochemical Gas

Tadrer LPG & feemT
(T) a¥elied Yeiferas da
(@) T e 3w

(¥) TIpe et |
(3) TP UerhFwHd AF

Disease causing microorganisms are
called

a. Pathogen b. Bactenia
c. Fungi d. Amoeba
qeFeal arT SAfAd 9T FHer STar §

(@) QTSI (&) aS=FEfaEr
() saw (@) efar

Viruses behave as living
a. Outside a living body
b. Inside a living body
c. Both a. and b.

d. Neither a. andb.

fammoy Siifad ®9 &7 ¥eeR d &

(@) T SNfaT R & aEy

(&) e Shifad R & I

(¥) @l (a) HRX (b)

@) & ar (a) 3R ()

The natural fibers are made from simple
molecule that 1s knowvnas

a. Polymer b. Monomer
c. Plastics d. Cellulose
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Whose reactivity is the highest among
the following metals?

a. Copper b. Potassium
c. Iron d. Zinc
PrTfafae argst # Read sfafsar aae
ST §?

(@) e (@) TR
() o (3N) ST

Chemical secretions of endocrine
glands responsible for the growth and
coordination in the

body are known as

a. Endocrine juice

b. Hormones

¢. Sex Hormones

d. All of the above

R # X AR ey & v SR
- afEt & yEaEe e

# g §7 & S Far g
(@) HTFEr

(T) FFw g

(&) graAfe
(3Y) IR wedr

Species of animals found only in a given
area are called

a. Endangered species

b. Endemic species

c. Special species

d. none ofthese

e eU T &y F 9T A arel AFaR
&7 gATfaaT I FEr ST &

() Seayra gerfaar

(@) TS

@) e gerfaar

11.

12.

13.

14.

15.

(3N) 3T & FIS AT
Section B - Mathematics

What will be the amount when interest
is compounded half yearly?

e awgfe =arsr g @ TR F2r
g

a.P(l-}-%)i b. P(1+5)
c. (1 +'EET£)2“ d. (1 +_-2-g—ﬂ)dm

The price of a pencil is Rs. x. If the price
of the pencil is increased by y%, then
new price will be

s 4ffa & fAg X w90 ¢, afe 9fae &
ﬁﬂﬁy%ﬁqﬁ'gaa‘m‘éaﬁﬂﬁaﬂﬁ

a x+y b. x+y

c. (x+y) = 100% d. x+x(ﬁ)
Even numbers have cubes and
odd numbers have cubes

a. even, odd b. even, even

c. odd, odd d. odd, even
A AT F U Ug fAwA
e &1 8 @l &

(@) &, e (&) &7, 77
(#) v, AvA (& TawA, w7

Which of the following is a linear
equation in one variable?

A @ HiT 6 UH W arenr F@e FHEOr
G

a.x2+1=0 b. y+y2 =0
c. 2xy+5=0 d. 2x-3=10

x5 _ _

'§+-?:-2-—3.X—?

a. 1l b, 12

c. —12 d. none of these
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The difference between two whole
numbers is 33. The ratio of the two
numbers is 2 : 5. What are the two
numbers?

a, 33 & 535 b. 44 & 33

c. 228& 55 d. 66 & 33

ar quiteRl & i &1 Ha¥ 33 §, 39 &
HEAU &1 HoqdId 2: 5 &1 & & HEarw F41
g2

(T) 33 3R 55
(@) 22 3R 55

(@) 44 3R 33
(3N 66 3R 33

A regular polygon having 3 sides is
named as

a. a square b. a trapezium
c. a kite d. a triangle

clieT $oM3 Are U T AR Sgager

FEdTdl &
(T) UF g
(¥) U gaIr

(&) v HHAFE
(3N v B

A quadrilateral with only one pair of
opposite sides which are parallel

a. square b. rhombus
c. trapezium d. rectangle
T SAISI AR fEolia $em3it arer
TN FEeITT &

(@) @ () wHHS
(&) T (3N) 3mad

In figure BEST is a parallelogram, find
the values of x, y and =

a.x=80,y=100,z= 100
b. x =100, v=80,z= 100
c.x=100,y =100, z= 80

20.

21.

L1:
L2 :

22.

d.x=80,y=80,z=100

BEST AR I §, x, y and z H
Al Ao

(T (x =80,y =100, z= 100

(@ (x =100,y =80,z =100

(@ (x =100, v =100, z = 80

B (x=80,y=80,z= 100

A dice is thrown. Find the probahility of
getting a prime number

TS T thehel OT, Ush 31T HEAT UIoT
FA Fr THEA &

b.
d.

W= =
-l s

Section C - Logical Reasoning

A sequence of numbers is given in line
L1. Using this sequence complete the
sequence given in L2,

12 28 64 140
37 (B Q [® (8 ()

Which number will come in place of (T)?
HEAIHT F UF HeppA didd L1 A R
I ¢l SH ITHA & 3uAeTd L2 A Ru

AT A AT G HT

T & ¥ 9T 497 §&IT H&E ?
a. 1412 b. 164
c. 696 d. 78

Study the given pattern and find the
missing number

ﬁamﬂzﬁﬂmmm,ﬂﬂm
Famg
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WG ARG (a) giatorga
'ﬂ& (€1 SeaR-atuH (8) IeR-gd
NW 26 A+BmeansAisthesonofB,A-B

a. 125 b. 25
c. 625 d. 156

It being given that: > denotes +, <
denotes —, + denotes =, — denotes =, =
denotes ‘less than' and * denotes
‘ereater than’, find which of the following
is a correct statement.

fear mmar & > 3T e |, +, < T
FAT & -, + 19 LAl & +, - 3Fd Har g
=, =g & § < W < 3FT FTar &
>&, 7 # O FiF o1 & FUa T8 £
ad+2=4=9+3<=<1

h. 322<4=18+3<2

c.3>2=>4x8+4<2
d. 3+2<4=29+3=<3

In the certain code language 389 means
‘run very fast’, 964 means ‘come back
fast” and 487 means ‘run and come’
Which digit in the language means
‘come’?

@ﬁmﬁSSQﬁ‘mnwr}rf&st“ﬁ
37T & 964 F 3T & ‘come back fast '
T 487 & AT & ' run and come’ | 37

arar F T F HF F AT & ' come '?

a7 b. 9
c. 4 d. 8

The time on the watch is quarter to
three. If the minute-hand points to
North-East, in which direction does the
hour hand point?

a. South-West b. South-East
c. North-West d. North-East

"Sl & gAY Gl i §, I Bee @ g8
3cal-qa fgem #r 3R @Aa & §, & '
$r g5 fra foxm & 3R el

27.

28.

means A is the wife of B, A * B means A
is the brother of B, A + B means A is the
mother of B, A = B means A is the sister
of B. Which of the following represents P
is the maternal-uncle of Q?

A+ BRI AdS A, BHFT €T §, A - B &
AdAd A, B & 9l £, A x B & #Aded
A, BFTASE A+ B & Adedd A, B &7
AEA=BHF HTE A B Fr gg7 &

AFa 7 O Sl ATar & & P, Q & AWET

&7
aRxP+Q b. PxR +Q
¢c. P+ R+0 d P+Rx=Q

Study the problem figures carefully and
try to establish the relationship between
them. From the answer ligures pick out
the figure which most appropriately
replaces the question mark (7).

THET & LA HEIAT FY AR 3
gt & & gE TaT e T 9Oy
Y| AT & A T 3§ AP D T
S e e (?) A1 S HEE UG &

Problem figures

4 4
I I 7
Foin il ) oy
Lu iy el wIF
; t
(&) (b)
A =y
& SE
- |
CHIE (d) [ ¥
) B

From the given choices, choose the
figure that contains figure (X) embedded
in it.

o e sl @ 39 smpfar @ 94,
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St smfar (X) wafed Bl

=]

X

@ | v m |
A

How many straight lines are present in
the following figure?

[yt

() (d)

fr sl & fraet W Y A €
XX

a.ll/ b. 14

c. 16 d. 17

In this question, a square transparent
sheet with a pattern is given. Find from
amongst the four alternatives as to how
the pattern would appear when the
transparent sheet is folded at the dotted
line.

9 U A, U oo & "y UH FAEN
areelt afe & a7 &1 areelf e @ farg
W W Az W 59 g 1 ded gFe
g |, R v ar fawer & &g &7 & @

31.

32.

33.

34.

35.

Section D - English

In questions 31 and 32, a sentence is
broken into four parts. One of these
parts contain some error. Spot this

part.

No sooner he left the office a. / than it
started b./ raining heavily ¢./ enough
to make him

completely wet d.

Ewven after hearing the leader a. / fora
long time b. / the followers could not
make out ¢. / which he was talking
about d.

In questions 33 and 34, a part of the
sentence is italicized and underlined.
Below are given alternatives to the
italicised and underlined part which
may improve the sentence. Choose
the correct alternative. In case no
improvement is needed, option d. is
to be marked.

The record for the biggest tiger hunt has
not been met since 1911.

a. improved

b. broken

c. bettered

d. Noimprovement

If he had time he will call you.
a. would have

b. would have had

c¢. has

d. Noimprovement

In questions 35 and 36, a part of the
sentence is left unfinished. Below
each sentence, are given [four
different words to complete the
sentence Choose the best alternative
among them.

Vijay did not expect treacherous

behavior from his own partner.
a. very b. such
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c. deep d. shimy
Sanjay would have in the
examination in spite of his efforts had
the examination been

less difficult.

a. failed b. tried

c. competed d. managed

Use the following paragrah with
blanks to answer the following
qguestions.

Recent discoveries (37] that Indians of

early days_(38) to have been_ (39]
civilised in many ways. They had
massive public buildings and

comfortable dwelling houses_(40)
_ mostly of brick.

a. have shown b. derived

c. investigated d. seen

a. intend b. decided

¢. behave d. appear

a. intermittently b. Highly

c. positively d. rarely

a. designed b. formulated
c. built d. construct

Section E - General Knowledge

In which state of India is Bhakra Nangal
Dam located?

a. Punjab

b. Rajasthan

c. Himachal Pradesh

d. Jammu and Kashmir

AR & TohT Usg & HTEer 9Tl &Yy
feua g2

(T) gatrar

(&) TSTEATT

() Tewmerer weer

(3N Y IR FER

42,

43.

44.

45.

The sun, moon and other shining
objects in the sky are called

a. Celestial bodies

b. Planets

c. Stars

d. Solar System

T, dgAr AR 3 F T JATAS

ST T FET S E
(v) F=eit Tt (a) I8
() an (&) | gomed

Who was the first president of Indian
National Congress?

a. Surendranath Bonnerjee

b. Jawaharlal Nehru

c. Subhash Chandra Bose

d. Gopal Krishna Gokhale

WD U FEUH & Uge JHegel Fid
)

(T) GlgATy alefolt

(&) STaTERET ABE

(@) gen G A

(3N) INCTer FHEOT Aol

Who is the Prime Minister of Canada?
a. Justin Trudeau

b. Theresa May

c. Dawvid Cameron

d. Tony Blair

HeAlST & T AT Bl 87

(@) SifesT Fea (@) dET A
(@) 2faE St (21 e =T
How many Vedas are there?

a. 5 b. 4

c '8 d. 10

Tl et A &2

@ 5 @ 4

() 8 (N 10
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In which year was India’s first war of
Independence fought?

a. 1885 b. 1942

c. 1857 d. 1926

HRT FT ATTGr F 9gell J& Fe @9 47
oqr ?

(T) 1885 @h 1942

(¥ 1857 @h 1926

From which country did we adopt the
concept of Judicial Review?

a. Ireland b. USA

¢. Canada d. Australia
gAa form gor @ =i aaer &
FTUROM & HIATT AT?

(T) 3T () guaT
CIETIED (3 reeiarar
When was Taj Mahal built?

a. 1567 b. 1327

c. 1648 d. 1677
ATSTHE S e FeITdT 34T AT?

(T) 1567 (@) 1327

49.

50.

@) 1648 @) 1677

Wheo made the fort of Fatehpur Sikri?
a. Shah Jahan

b. Aurangzeb

c. Akbar

d. Bahadur Shah Zafar

Fleq? Hie & e e aearar ar
(T) ARl

(&) 3RS

() AT

(31 FBIGT AE AT

What is the Upper most layer of the
earth’s surface?

a. Mantle b. Core
c. Lithosphere d. Crust

g2l T Hlg I FIU FEF F W =47
&

(T) Heca
(H) FUaHSA

(M) PR
(3N sqaee
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